BALDWIN

Congratulations!

With your purchase of this Premium Entrance Set, you are among a group
of dis‘ccming individuals who know the intrinsic value of s‘clccting the finest—Baldwin.

()Ul' S[Cp'b\"ﬁ[cp lnS[J”J[iOn mstructions \\'l” hC]P gllidc you [hl‘DU\I’h your PI‘OJ‘CL‘[
quickly and casily.

Before you begin your installation, read and understand the installation instructions and
lﬂ;ll‘](ing [Cn]P ates. lf{\y(“\l ha\'( JI)}' L]UCS[]()HS, PICJSC dO not hf\lt&tf O contact our

Baldwin Consumer Help Line at 1-800-566-1986. Were here to help! We thank you

f’()l’ '\'()Ul' PL]l’LleSC Lll](] \\'iSh '\'OU th[ f’ullcst L‘“JOI\ ment ()f’,\'ﬁlll’ Bdld\\'ln Pl'OdULt.

on L‘XP]OdCd view section \7FII]§[I"LIC[I\)HS.

5399.XXXC; please specify the finish of your product.
« Follow the step-by-step sequence to ensure proper operation of your Baldwin lockset.
o Ifyour door s pre-drilled, skip Door Preparation.

tel
handle on the left of the door, proceed asifall illustrations were reversed.

o Werecommend spl‘cadmg cardboard over floor to prevent scmtclnng parts and marring floor.

. 1\1\\';1(\'5 wear pl"O[C([i\'C Cy( wcear.
DUMMY HANDLESET: EXPLODED VIEW

Dummy

C(\'lmdcr

Dummy
Cylinder
r\dapmr 2830 x21/4

0 / Flat Head Screw
4

¢ < #6x 1" Oval Head
9. Qé Phillips Screws
Adapror
0 b Interior
of

Attach the leklptor with two #10 - 32 x

1-1/4” truss head screws.

' // Dummy //
Cylinder
’ Dummy
\@ Cylinder

/\dapmr
- (4 6. D
ﬁ? #10-32x 1-1/47 ﬂ“
Truss Head Screws <

#8-32x2-1/4"
Flat Head

Screw

Qutside @ #10-32x2-1/2"
Handle Flat Head
Machine Screw
...
®.
Screw Cover
Backplate

« Check door thickness. This lockset works on doors 1-34 thick only. For doors greater than 1-34" up to 2-14” thick, you will
nCCd o ()l‘df]' a th]kk d()()l' conversion l\'lt ﬁ'()n] Llll)' Bﬂld\\'ln H‘U'd\\'ill'( dcdlcl‘. TI]C conversion kl[ Pdl't nlln‘b(r f‘()l‘ [hlS item is

o Theillustrations in these instructions dcpi(t the outside handle being installed on the right of the door. For installation of the outside

PK.1300 Rev 02
Tubular Handleset Series

Care and Maintenance

Installation Instructions FULL DUMMY & EMERGENCY EXIT HANDLESETS

WARNING: Do notattempt to clean your hardware wich any type of abrasive cleancrs,
solvents, or chemicals. These types of cleaning agents may mar the finish. A damp cloch s all
that is necessary to wipe clean. Note: Finish Number 102, Oil-Rubbed Bronze, can be cleaned

\\'itll llgl]( lll;l(llil]c Oll dnd \\'IPC({ \\'Hh a
dl'\' Cl\)[l].

Warranty

Refer to www.BaldwinHardware.com for a complete warranty statement.

BEFORE YOU BEGIN

« Remove and discard all materials and screw(s) used for packing your Premium Handleset. Verity that you have all parts pictured

Consumer Help Line:
1-800-566-1986

Hours:

9am.to5 pm. EST. - Saturday

<«  Consumer Help Line

Ifyou have trouble installing your Baldwin
product, fecl free to call our toll-free

8am.to6pm. EST.- Mondkly []11‘oug]1 Friday

DUMMY HANDLESET: DOOR PREPARATION

. F()ld [llC CHCIOSCL{ [cmpln[c on [hC liﬂC ‘Jﬂd P()Si[l()ﬂ iton [lIC ({001' at

the specified heighe.

Non-bored Doors - Determine your door thickness and type of
handleset to be installed. Measure the heightand backset of the active
trim, using the enclosed emplate to locate and mark the required
holes (A, B, C) for drl”ing. Ensure the backset and hcight macch the

active trim. Hole A should be 38” from the floor. Proceed to Step 2.

Bored Doors - Mark and drill hole C (5/16") for appropriate

handleset dcsign. Proceed to Step 1 of Dummy Trim: Installation.

. Top View of Door
Beveled Doors - Place the folded oy

edge of the template on the low ,

Sid( OF[]]C IWL'VCI as ‘\ll()\\'ﬂ b(‘l()\\'. ’l‘CI“PI&ItC

and interior escutcheon plate. Witha 1/16
drill bit, drill the pilot holes. Attach the

SCIew COvCer.

g

4 [Adapror q
Incerior
Escutcheon
Plate
Screw Cover @

Escutcheon
Plate
Lever . - - /
2. Dirill the 2-1/8” diameter face bore (A) through the door matching B
Outside & _F10-32x 1-1/4 ._ the backset of the active trim (2-3/87 or 2-3/47). Drill the 1/2 ’\
> Truss Head Screws - . ,
Handle N dummy cylinder hole (B) through the door at same backset as hole
| A. Drill the 5/16” lower pull assembly hole (C) for the appropriate A
.- " handleset shown on template. O
#6x 17 Oval Head }) P
0. [’hi“ips Screws Set Screw
"@ Caution: Re-check hole locations before drilling.
, . . " A_9.1/%°
Allen Wrench Screw Cover x Screw Cover Al 1 § ¢
Backplate @ B-1/2 .
Flae Hcfld C-5/16"Drill for proper handlesce
Machine Screw
1. Place handlesce against outside of door 2. Place the dummy cylinder into the cylinder 3. Place the interior escutcheon plate over the 4. Reinstall the interior escutcheon plate with
and attach with #10 - 32 x 2-1/2" flat head hole of the outside handle. Insert one #8 - 32 adapror and slide the lever onto the adapror. four #6 x 1" oval head phillips screws. Slide
machine screw. Tighten the screw enough x 2-1/4" flac head screw through the dummy Ensure that the interior escutcheon plate the lever onto the adapror and secure with
to hold handleser in place bue nor fully cylinder adapror and into the dummy edge is parallel to the door edge, then mark the set screw.
tightened. cylinder. Tighten all the screws. the screw hole locations. Remove the lever

< <

#6x 1" Oval
Head Phillips

SCl‘C\\ S

Lever

s

Set Screw




ACTIVE HANDLESET: DOOR PREPARATION

ACTIVE HANDLESET: EXPLODED VIEW

1. Fold the enclosed template on the line
and position it on the door at the specified B
hcigh[. P
QOutside . - Q / i L -1
Cylinder - Non-bored Doors - Determine your R
/ . . - ! N
door thickness and type of handlesct to $r -
Oursd be installed. Locate and mark the required ; |
Hl:]l:{tli (o Ag"l:f:(b[l( Emereency holes (A, B, C, D, E) for dri“ing. Hole A : :
Deadbole Eoress D should be 38” from the floor. Proceed to !
1 .. Cartridge #6-32x7/16 3 9 !
y : - S #10-32x 1-7/8"  Oval Head Screws Step 2. :
<\
. . NN
Alignment -, Bored Doors - Mark and drill hole E d
Fitting ’ (5/16”) tor appropriate handleset design.
.. ) Proceed to Step 1 of Active Trim:
4934 x 34 - N Spindle Installation.
834 x 2 .
(,‘,on_wl\m‘\(lon % .
Screws .. Trim Beveled Doors - Place the folded
U edge of the template on the low
#8-34x3/4" .. #10:32x2-1/2 side of the bevel as shown below:
Combination Adjustable Flac Head S as's 2

Screws Backset Machine Screw

Top View of Door

Lach Screw  #104
Wrench Screw Cover Screws

Tunp]arc

N Backplate

2. Drill the 2-1/8” diameter face bore (A and B) []11‘0ug1] the 3. Insert deadbolt into C(Igt 4. Chisel out area marked 1. The latch and deadbolt suppllcd with this unit has an

doorand 1" diameter L‘dgc bores (Cand D) 3-1/2" dccp of door While l\olding in Step 3 to adepth of adjustable backsct fearure. They will be set at 2-3/8” backset.

for 2-3/8” backsetor 3-7/8” dccp for2-3/4" backset. The ﬁlcrpl;ltc p;u’;lllcl to cdgc 5/32” or until ﬁlccpldtc is To ;1dius[ t0 2-3/4" backset, grasp bod) and twist fdccp]:ltc /

lacch and deadbolt accommodates both size backsets. Drill of door, trace an outline flush with door edge. bolt head assembly 180 unil it stops. Unit is now ready for

the 5/16" lower pull assembly hole (E) for the appropriate of the faceplate onto the installation in 2-3/4” backset configuration.

handleset shown on template. door edge. Mark screw 2. Position deadbolt and latch. Install with four #8 x 3/4” flac
hole centers and drill head combination screws provided (see diagram for proper

Caution: Re-check hole locations before drilling. 1/8” pilot holes. Remove positioning). Manually extend the deadbolt from the edge of

A-2-1/8" D-1" deadbolcand repeat the door using a flathead screwdriver.

B-2-1/8"  E-5/16 Drill for proper handleset. process for latch.

C-1 Install deadbole with both long slots

on lacch body in upper position.

On

&, 0

0 Extended
J_/\ Deadbole  Rorare latch if necessary.
£ (angle of bole should face

° doorjamb.)

O, O«

o®

ACTIVE: HANDLESET INSTALLATION

1. Place handleset 2. From inside 3. Measure the 4. From inside of 5. Forassembling with 6. Rotate deadbolt 7. Keeping cylinder tailpicce
against outside of of door, slide thickness ()f}'(»tll‘ door, insert short an interior ‘LEVER slide cam towards invertical poxiti(m, insert
doorand attach ;\llgnmcnr ticeing door. Ifdoor s end of spmdk ‘LEVERSTRENGTH" door edge mllp]ccc rhrough outside
by fastening the between the less than 1-3/4 through the egress cartridge onto spindle. using fla head handleset assembly, deadbole
#10-32x2-1/27 post and around thick, do not use lacch with the “V . . . screwdriver. This and Emergency Egress

) R o T Forassembling with . TS SN
flac head screw the latch as the flac spacer groove” angled LD o1 will cover the cartridge. From the inside
- i o - g o~ an interior ‘KNOB. slide o -1 o .
through the illustraced. provided. If your down and toward h D N mounting screw of door, rotate the tailpicce
g ) . o KNOBSTRENGTH ©

screw cover back door measures the hinges. Verify : hole thatis closest back to retract the deadbolr,

o N ) / egress cartridge onto spindle. X R . .
and lower hole, 1-3/4; slide the deadboltis o o to the door edge. then attach the cylinder with
tighten screw spacer onto the extended. Actach lower portion of two #10-32x 1-7/8" tlat head
cn()ugh to hold spindlc as shown car "jdg’c to handleset wich machine screws. Make certain
handlesetin in the diagram. two #10-32 x 1-1/4” flat head your handlesct operates
place. machine screws. Do not correctly and is properly

aligntd, then tigh[cn all screws.

N

Cylindet .
Talpicce

[ig]][cn screws at this time.

Egress
K Careridge
O I O O ¢

Picce R Extended
Deadbole

Mounting Sercw
Hole is Covered

10-32x1-7/8

Machine Screws

Cartridge Alignment @ )
@ b ; Deadbolt
Post
Spindlc §
Short End
10-32x2-1/2 of Symdh
Flac Head .
Ourside Screw 10-32x1-1/4
Handle D @ @ P Machine

Screw Cover Screw

Backplate

E: CONTINUED

8. Align thesslotin 9. Pullspindle outas 1. Using strike 2. Alignand trace 3. Deadbolt strike: Using reinforcing strike as emplare, 4. Deadbol strike: 5. Install strikes as
© - o) e N . e 5o we e :
turn knob with far as possible and m;u’kmg template, outline of strikes marklocations for reinforcing screws (Fig 1). Drill two 5/32 32" deep or until the illustrated.
cylinder tailpicee depress thumb locate and mark onto the door dia. pilot holes for the 3" long screws and two I/8” dia. pilot strike box, reinforcing
55 - —-ro” » C )
and place acainst vicce. With thumb strike mounting frame using holes for the #8 x 3/4” screws. Bore 7/8” dia.x 3/4” deep hole in strike, and strike plate fits 1. Dust Box (deadbolt)
precagun preee. screws and 5 the center of the strike. inside mortisc and flush 2 Reinforcing Strike
door. Fasten trim vicce depressed, . . mounting screw 3 8% 3/4" Comb
- B pr P centering points So Y with the door frame. 3.#8x3/4” Combination
with four #6-32 x slide lever/knob for bothatrikes marks for location. Lacch strike: Acpreviously marked locations, drill oo Screws
/16" oval head onto xpindlc and acrequired door 1/8" dia. pilot holes for the #8 x 3/4” screws. Bore 7/8" dia.x Latch strike: {. 3" Reinforcing Screws
screws. Caution: tighten set screw thickness. 3/4” deep hole n the center of the strike. 3/32” decp or unil surike 5. Strike Place (deadbolt)
. o - e . ey e
Do notover (wich allen wrench Note: for double boxand \“'{L; “I “““:L ] X x1/4"Machine
i o s, > strikes mortise and flush with the Screws
Ugh[cn SCIeWs. supplmd) hrm]y dk}ﬁ)i%, f]lk Str lgxu ‘d(:; EKII‘:: ushwi c ~ l;l‘lt:\l;u\ ek
Tichten #10-32 o “V oroove will be located on . x (la
Tighten #10-32 into “V” groove. i ¢ Ske
1/2" flat head ¢ non-active door. (
x 2-1/2" tlat head e e e
9. #8x 3/4" Wood Screws
screw then attach Bore
screw cover. N daxpri N NOTE: Lubricant
. o] L cherof recommended
Iy D157 Tegh< ke, wheninstaling 3
j\ dia Pdm"l‘ . Drill3/32" N reinforcing serews. |
Thumb ' holes 1"~ dia, piloc X
Picce for #8 holes for
. screws. 3 long R
" ' Screws -
Spindle & .
N R Bore7/8 N N
- N dia x3/4
L deep hole N -
in center of N s . :
s? 8 strike 6 S5 -
S Dl 1/ dia AR
o piloc holesfor s \J5
Comm 0 #8 screws.
10-32x2-1 ,}@/ wover I & 8
Flat Head |
Screw 9

©2021 Spectrum Brands, Inc. All Rights Reserved. Lake Forest, CA 92610



